REFFILERMKFESS

THAFEAFLABRGR

OESH

1 SHREH. ERERF
(— =K (A ETE)]

(REREICITBRBRZREEZSD)

ERE  |wemesens) ZEREF aE AEE
=t 287 285 265 102 100
Wi | BF 176 175 165 63 61
TF 111 110 100 39 39
&t 154 154 142 57 56
W& |BF 94 94 90 39 38
ZF 60 60 52 18 18
&t 133 131 123 45 44
BiZE |BF 82 81 75 24 23
ZF 51 50 48 21 21
(4F50:E IR CEREBRER) ]
SREE 2ERE aRE AEE
&t 16 16 7 7
W | BF 7 7 2 2
ZF 9 9 5 5
Bt 13 13 6 6
W& |BF 6 6 2 2
ZF 7 7 4 4
Bt 3 3 1 1
BiZE | BF 1 1 0 0
ZF 2 2 1 1
2 MERISEER. ARERSE
it -
%{ k| deie | 50 | i | opm | | P 2P | et R
SRE 5 13| 2 | 20| 210 11 6 6 4 | 303 100
ZEBRE 4 (36| 2 | 19 | 194 11 5 6 4 | 281 88
ateE 0 9 1 11| 79| 4 1 2 2 | 109 34
AZEE 0 9 1 10| 78 | 4 1 2 2 | 107 34
3 F2EEEREKRENDER
e o o 3=
R BRR | BER | FER e oneanm|  B%
HiTEA 808.5 616.5 669.8 450 600 1050




S EEFH
1 SHREH. ERERF
(— =Kk (A ETE)]

ERAE  |wemesens) ZEREF aE AEE
=t 79 79 72 45 45
Ee s 5F 5 5 5 2 2
ZF 74 74 67 43 43
=t 70 70 63 43 43
HE |[BF 3 3 3 2 2
ZF 67 67 60 41 41
=t 9 9 9 2 2

BEZE | BF 2
ZF 7 7 7 2 2

(e R (PR B EER) )
SREE ZEAE ] AFH

=t 70 70 40 40
W | BF 5 5 3 3
"ZF 65 65 37 37

2 iR EREER. SHEERF

it -

s FEB | o e T M| D = || TZEB

EJE;": B e | L= o & | b E | uE R A&t et
SREE 0 3 1 7 | 129 1 7 1 0 | 149 102
ZERE 0 1 1 7 1125 0 7 1 0 | 142 100
BRE 0 1 1 5 75 0 3 0 0 85 59
AFEE 0 1 1 5 75 0 3 0 0 85 59

3 F2EREERERENE R

. - 2e
28 | BEs | BES | TS A

HBETAL |2RENHER| BE

BiTHA 874.0 719.0 771.9 900 200 1100




